PreCalculus ACC “18-19 Name: S:-\.. veu K, i
Dr. Quattrin

Radical Test

CALCULATOR ALLOWED

Round to 3 decimal places. Score
Show all work.

1. Find the zeros, domain, and End Behavior y= ~J5x3=3x2—10x+6 on
se| Bk, X (5~3) -2 (Ex-3)
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5. Find the zeros, domain, and End Behavior y= J=2x*+9x%-4
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6.  Extreme points of y=v-2x*+9x2 -4 .
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Radical Test

CALCULATOR NOT ALLOWED

Show all work. Score

7. Find the traits and sketch of y= ‘/);—6_169 ;

Domain: & C G v -5) U [o R%) Y — Intercept: o U\

Zeros: (O () Range: ﬁ & C"’ ( oY )
VAs: ~— & POEs: None
End Behavior (left): 5 = End Behavior (right): A&

Extreme Points: ( O ( O)




8. Find the traits and sketch of y=—+5x*—3x>—10x+6 on xe [—«/f, 4}

Domain: Dzs # ) Y — Intercept: Qj \ ~Jb )
Zeros: Sz 1\ Range: lﬁ & (E- < B 0—3
End Behavior (left): ¢ HE End Behavior (right)~/ e~ &

Extreme Points: S ¢ 2 ¥ &




EC. Find the traits and sketch of y=+v—2x*+9x>-4 .

Domain: S2< # § Y — Intercept: NonE
Zeros: D2¢ ¥ Range: Y E [.O .\--TL E. ';Trgl
End Behavior (left): v & End Behavior (right): R &

Extreme Points: Sz2¢ ¥ 6




